T AE X

T L

iy
n

omE e

e, —h,
W

E

w

3 -
¥+ £ | i

i T
we 3 fr

-
- -

ERRE(GE11E)




g
IS
/000
g
'S
\900

TR
\
. GP|
(=) ¢ ‘ 461
25.22
| -5.21 522 As 4
«4.81 25.23 As °5.21 o517 4s§m
= 4.72 ,J—.
v 7 = ol G L =
— N\ o == 7 ] = - B
kD
As :H Co
47 R 3, 4T3 . . o471 &p
3t E*&ﬁif - H 2” 4.72 4.73 4.1
g
———o /@11 L @.0) @10 Q o0 vﬂm-}@,mﬁg&, 777777777777777777777777 ww a2 @19
\ (4.12 S B S S B B I I IR B L L . Y L O D E
- N 4.55 4.68 \ " 4.67 4.5
3.33f]
\ L35 A ‘= T
190 || T
R iz wipE 3.2 3 2 e T
I \ L i Y » [s] M wan 3,21“ i I R
w |l FE R % X 3 3 wME]  EE RWE | | EE BHTE )RR \ AT WML Rl MR RIE
\ - Ea. 80 3.80]
] = RAEE & |
| o 30KV o g - o ° o  EAE30KNED o
| =1 =1 = = g g = = =3 gl =3 =1 al
T T T < T T < < T T T < ¥
| < <
492 ‘ 4. 73[ ,i o_g
S S
— £ 2
N o~
chLBEEEER L=10. 0Pm
=] (o]
3 $
g (=]
S —
2 1 z 5
| < = T E - o~ ~
£ IO UITRZEBRX L TITRZ S
g =}
& &

FEER=X L AR T & £ IFL=191. 37m

oM T FE

EERE

KEMHGRBHRAEREER

T

Rl ¥ @ B

g R 1/ 300

0FEOHN 15

BER TEh




¥

g
00€:1=H 001:1=N 2

=11
57 MO¥ER

LSl

& E

B T

<7’

FETYUMEEORIGUEN

Mt

e

!

See . ” e uh f i
o = o g n n
m & B ) s o
. ot L] S 8
- 1X]
e & o it il = 1:100
| —
bl o =)
o y # [
S S S ok
| N T O :
P N
+ 1R =
2-N0.0 - 0.000 0.000 4.76 & I 2-NO. 0+1. 05 |
S o -
53 ~ ol
o 9N 0+ H
2-NO. 0+6. 04 6.040 6.040 4.55 S N0 0% T s
i @
2-NO. 1 - 3.960 10.000 3.86 4.55 &
E
(=3
g
2-N0. 2 - 10. 000 20.000 3.18 4.55
2-N0.3 H  10.000 30. 000 3.19 4.55
2-N0. 4 H  10.000 40. 000 3.23 4.55
2-N0.5 H  10.000 50. 000 3.25 4.55
2-N0. 6 H  10.000 60. 000 3.25 4.55 N0 e
2-NO. 6+1.16 1.160 61160 4.55 |——2=N0.6+1.16
H
N
2-N0. 6+6.20 5.040 66. 200 3.24 4.55 2
&
2-N0.7 - 3.800 70.000 3.24 4.55 %
5 iy
© =
2-N0. 7+6. 18 1 6.180 76.180 200 7+6.18 & i
R
2-N0. 8 - 3.820 80. 000 3.25 4.55 AT = |H
]
|
s ™
2-N0. 8+6. 18 [ 6.180 86.180 N0 56 75 B
2-N0.9 - 10.000 90. 000 3.23 4.55
7
R
]
I_r
D=lb
2-N0.10 | 10.000 100. 000 3.23 4.55 E!IEI'E
h.
=
—
i
°
2-N0. 11 H  10.000 110,000 3.21 4.55 s
2-N0.12 H  10.000 120,000 3.20 4.55
2-N0.13  H 10. 000 130. 000 3.20 4.55
2-NO. 14 H 10.000 140. 000 3.23 4.55
2-N0O.15  H 10.000 150. 000 3.23 4.55
2-N0.16 | 10.000 160. 000 3.23 4.55
2-N0.17  H  10.000 170. 000 3.30 4.55
2-N0.18 M 10.000 180. 000 3.2 4.55 oI
JF g
Iy 2
213 i
i S
ow 8|U
2-N0.19 H 10.000 190. 000 3.28 4.55 =1e X
RY =
= |
| T
-
2-EP - 7.410 197.410 3.29 4.55 S NOT9+T 270
FLZILFEH (2. 50m

[ErEtla=c]

W

Y4

i)

00€: 1
00L:1




EENEE $=1:100
(25 ¥1535]

2-N0.8+0_18
GHfS. 25
5.00 4.25
A T rﬂj
CEEPZ D0 455 . S— -

BV ) — b b —
FIEARE
N RiFARE
DL=0. 00 \\\\\\\\

GH=3. 24
Fh=

5.00 4.25

avy)—rgE
HEEFars)—+

CEERZIET o BV

AS

o +4.55 [
2 / , ; S
ok*3.80 cs1 5]
[Y2]
S|
FIEARAE
DL=0. 00
2-N0. 4
GH=3. 23
FH=
5.00
BEFavHsy—F
o +4.55 ; S I
2 —% T ;
~4+3.80
[f2]
o B Lo Y— b
oy y— M
DL=0. 00

S T EE |

Mt | ol

5 &%

KEMHGRBHRAEREER

T

X & RERE R

e R $=1:100

20FEDODHN 3F

BER TEh




eI " o
+3.80 >
DL=0. 00
5 B B #HE
aVy)— rEER(EBRBE | m2 -
CEEDZ DY m2 | 0.70
a2y )— MEENR(FTEBE | m2 -
EHas— FEE m2 -
RIE m2 | 0.02
2-N0. 1
GH=3. 86
FH=
— — & T
+3.80 N
DL=0. 00
5 B B #HE
VY — FEER(EBRRBE | m2 -
EEEPZDEY m2 | 0.67
a9 ) — MEER(FEBE | m2 -
EHaoU— FEE m2 -
iR m2 | 0.06
GH=4. 76
FH=
— 0 T 777«,—‘@-,—***/"** —T—T
DL=0. 00
5 H B #E
a9 ) — MEER(EBBE | m2 -
BEaYU— L& m2 -
a ) — MEER (TR BE | m2 -
LEa o) — b MEE m2 -
23 m2 -

Rk (1/5)
(25 %515]

NO. 0+6. 13 (0. 00)

NO. 0+6. 13 (0. 00)

DL=0.00

DL=0.00

DL=0.00

S=1:100

GH=3.25
Fi=

Co — As T
+3.80 O
E B Ei| BE
IV rRERERRE | m .
BEEa Y ) — EE m2 0.86
2U0 ) — FRER (TR RE | m .
I EPDELS 2 =
R m2 | 0.10 | NO.5+7.99(0.10)
GH=3.23
H=
5.00
w To T T — As —TT
+3.80 44t44444444:F135ﬂ3£f:;fa 5]
® B Ei BE
U5 rRERERBE | m =
BEa5 U— LS w2 | 0.86
2V0 ) — FRER (TR RE | m -
I EPrDETS & 2 =
I m2 | 0.09
GH=3. 19
FHE
5.00
+4.55 R -
S ; S
+3.80 f""“““;;qcf;ﬂ:£:£:fffr47 [
E B | BE
U5 — FRERERBE |2 - PP E—————
BEa5 U— S m | 0.85 B T FE
25— FRERTRRE | m -
eSS 2 =
I m | 0.04

EERE

KEMHGRBHRAEREER

T
& | R (1/5)
e R $=1:100

0FEDODRNLS

BER TEh




2-N0_6+6 20"
GH=3. 24
FH=
5.00 4.25
+4.55 O
+3.80 —— B
DL=0. 00
B B B #HE
aVy)— rEER(EBRBE | m2 0.85
BERa>oU— MEE m2 | 1.03
a2y )— MEER(FTEBE | m2 0.50
EHao— FEE m2 -
iR m2 | 7.00
2-NO. 6+6. 20
2-NO_6+1 16"
GH=3. 24
FH=
4.25
— — T — T AS
+3.80 — T L]
DL=0. 00
H B EXivd =
VYY) — FEER(EBBE | m2 0.85
EEEPZDEY &3 m2 | 0.95
a9 ) — MEER(FEBE | m2 0.50
EMas— FEE m2 -
RIE m2 | 6.64
T ‘i‘ B As
DL=0. 00
H B B #E
a9 ) — MEER(EBBE | m2 -
BRI U— L& m2 | 0.95
QU= FRER(TEROME |m2 | 0.49 |NO.5+6.13(0.49)
EHas U — FEE m2 -
iR m2 | 3.93 |NO.6+1.16(6.64)

=k (2/5)
(25 %515]

DL=0.00

DL=0.00

DL=0.00

AS

oM T FE

EERE

2-NO. 7+8. 18
— + ’
GH=3. 25
FH=
5.00 4.25
+4.55 . F—r——— 5 —
+3. 80 ‘ /— D
H H HiI| HE
AV — RSN (EBBE | m2 0.85
BEEEa v Y ) — M m2 1.00
VYY) — FEREER(FRIRBE | m2 0.50
EEHaI - FEE m2 1.31
R m2 7.36
2-NO.7+6_18
GH=3. 25
5.00
+4.55 . S —
+3. 80 B
H H BT &
A7) — MEER(EBRRBE | m2 0.85
By U— MEE m2 1.00
VYY) — FREER(FRIRBE | m2 0. 51
EEHaI o) —rEE m2 -
R m2 1.36
GH=3. 24
FH=
5.00 4.25
+4. 55 —
+3.80 D
H H B i
a9 — MERR(EBOBE | m2 0. 85
BRIy U— MEE m2 0.96
AV ) — FRER(FRBE | m2 0.49
EEHaIo)—rEE m2 -
RiE m2 7.19

KEMHGRBHRAEREER

T
& | R (2/5)
e R $=1:100

0FEDRHNLSE

S

1ItE™




AS

p|/| W, .
HEERTE (3/5) $=1:100
(25 ¥1535]
2-N0. 8+5. 00
— + —
En=3. 25 E:=3. 23
5.00 4.25 5.00
J‘J_L_fi T AS T +4 55
T | T 7 B AS o T —
+3. 80 | /— ] +3.80 _;—'_‘ﬁ
DL=0. 00 DL=0. 00
E B Ei| BE
25— rRER B BE |m2 | 0.8
PEERO 4 1) — MK m2 1.00
2U0 ) — FRER (TR BE |m2 | 0.50
I EPDELS m | 1.3
KR m2 7.36
2-NO. 8+2. 18
- +
GH=3. 25
Fh=
5.00 4.25
J‘J_L_'i s
—_— T - A T
+3.80 /- 7
DL=0. 00 DL=0. 00
® B B BE
25— rREREBEE | m | 0.8
PR o) — MEE m2 1.00
IU0 ) — FRER(FEBE | m2 | 0.50
I EPrDETS m | 1.3l
KR m2 7.36
2-NO. 8+6. 18
_ 2-N0.8+5._00’
GH=3. 25 =3.
FHE
5.00 4.25
FJL# — i -
| T - A T
+3. 80 D
DL=0. 00 DL=0. 00
E B | mE
IU5)— FRER (LB BE |m2 | 0.85
PR o) — MEE m2 1.00
25— FRER(TEBE |2 | 0.50
eSS m | 1.3l
23 m2 7.36

B B B HE
aVy)— rEEREBRBE | m2 -
BERavY U—FEE m2 0.94
a9 )— MEEMR(FEBE | m2 0.51
EEICS U — FRE m2 -
RIE m2 | 0.04

- AS Co

H B B #HE
VYY) — FEER(EBRBE | m2 -
EEEPZDEY m2 | 1.00
a9 )— MEER(FEBE | m2 0.51
EEIT S U— FBE m2 -
FRIE m2 | 7.3

IT T AS Co

H B B #HE
aVy)— hEER(EBRBE | m2 0.85
EEEPZDEY m2 | 1.00
aVy)— FEER(FRIBE | m2 0.51
EEIT S U— FEBE m2 | 1.31
FRiE m2 | 7.3

NO. 9+6. 21 (0. 51)

NO. 8+9. 36 (0. 04)

oM T FE

EERE

KEMHGRBHRAEREER

T

& | R (3/5)

e R $=1:100

0FEDRHNGES

BER TEh




Rk (4/5)
(25 %515]

6H=3. 20
FH=

I & T
DL=0. 00
H H i HE
a9 — hMEER(EBOBE | m2 -
BEaVYU— MEE m2 0.86
A7) — MEER(FRIBE | m2 -
EEHaIH)— MEE m2 -
FRiE m2 0.10
FJ_LJ* s
o T A — T
DL=0. 00
H H B #HE
Ay — bR (EBOBE | m2 -
BBy — FMRE m2 0.85
A7) — RER(FRBE | m2 -
EEHaI o) —EE m2 -
R m2 0.15
As T
— s O
DL=0. 00
H H By #HE
a9 — MERR(EBOBE | m2 -
vy — MRE m2 0.85
AV ) — FEER(FRBE | m2 -
EEHaIo)—rEE m2 -
RIE m2 0.10

DL=0.00

DL=0.00

DL=0.00

S=1:100

GH=3.23
Fi=
5.00

+3.80

+4.55 - S

H B BT HE
IV — bR (B BE | m2 -
P>y ) — MEE m2 | 0.86
AV ) — MEER (PRI BE | m2 -
EHa Y - HEE m2 -
iR m | 0.1

o1 A T IJ_LJ*

H H | HE
VY — hEER (B BE | m2 -
(EEPZDES T m | 0.8
2V ) — MEERR (FERIBE | m2 -
L#Ha Y U~ MiE m2 -
iR m | 015

Co \D‘\ — As T T J‘J_L_'i

H H B HE
A2 U — FERER(EBORE | m2 -
(EEPZDES T m2 | 0.86
IV — bR (FBBE | m2 -
L#Ha Y U~ MEE m2 -
iR m | 013

oM T FE

EERE

KEMHGRBHRAEREER

T
& | HEMEETR (4/5)
e R $=1:100

0EDODRNTS

1a

B T8




Rk (5/5)
(25 %515]

GH=3. 27
Fi=
5.00 H
+4.55 -
e Co W As S
+3.80
DL=0. 00
B B B HE
AV — MRER(EBO#EE | m2 -
BEa Y — NS m2 | 0.86
a2y ) — MRER (FTRORE | m2 -
B U—rEE m2 -
IR m | 0.02
GH=3. 30
Fi=
5.00 W
+4.55 I I ——
Co As
+3.80
DL=0. 00
" B B ¥E
AV — MRER (EBHE | m2 -
BRI Y ) — S m2 | 0.71
2V — MRER (FTRORE | m2 -
By U— R m2 -
ERIE m2 | 0.01
T ﬁjj—rif B — A L
DL=0.00
" B Hb| ¥E
2V — MRER(EBEE | m2 -
BRI Y ) — S m2 | 0.85
AV — MRER (FROME | m2 -
i el m2 -
ERIE m2 | 0.07

DL=0. 00

DL=0. 00

S=1:100
2-EP_
GH=3. 29
FH=
G328
Fh=
5.00

" B B ¥E
2V ) — MRER (EBEE | m2 -
B > D ) — MEE m2 -
a9 — bMERR(FBROBE | m2 -
8o — & m2 -
PRI m2 -

AD\ As
B A B BE
AV — MRER(ERBE [ m2 - S —
Py ) — MEE m2 0.86 |NO. 19+2.03(0. 86), NO. 19+3. 88 (0. 00) n *D T Erﬁ
AV FREER(FREE | m2 - = R
T EPZDETS &3 2 - 2R RE
ER1E m2 0.01 [NO.19+2.03(0.01), NO. 19+3. 88 (0. 00) KEVAEBSEReEE

T

& | HEMEETR (5/5)

e R $=1:100

40FEDODMHNEE

BER TEh




GH=3.18
FH=
5.00
8 +4. 55 AjTAAAAAAAAATTTr
o +3. 80 cSL_____i;L/C:::IAA
o
DL=0. 00
2-NO. 1
GH=3. 86
FH=
5.00
19 +4. 55
+3. 80 =}
— = =
DL=0. 00
GH=4. 76
FH=
DL=0. 00

B B EGEES
EHEEFasHoU—F m2 0. 31
sLEFary)—FRP m 0. 62
#BRL m2 -
HEARE QD m2 1.12
avsy—rREQD m | 0.79
FEEPZPEINO) m2 | 0.57
BEERavy ) — R m 0.95
HEAREQ) m2 -
avHU—rEEQ m2 -

T S —

H B HiI| #H=E
EHEEFarsU—F m2 -
sLEFary ) —rEP m -
#BRL m2 -
gl O) m2 0. 31
aVvsU—rREQD m | 0.75
FEEPZPEINO) m2 0. 61
BEEEo > o ) — RERBR m 0.95
HAREQ m2 -
aVIU—rREQ m2 -

g E

H B HiI| #H=E
HEFaroy—+ m2 -
BLEFary ) —rER m -
#BRL m2 -
HEARE QD m2 -
avsy—rEEQD m2 -
[ EPrI N0 m2
BEEEo s ) — REBR m -
HAEREQ m2 -
AV EQ m2 -

NO. 1+0. 42 (0. 31)
NO. 1+0. 42 (0. 62)

18 |11k (1/5)
(25 %515]

S=1:100

NO. 0+6. 13 (0. 31)
NO. 0+6. 13 (0. 75)
NO. 0+6. 08 (0. 61)
NO. 0+6. 08 (0. 95)

Co

el

2-N0.5
GH=3. 25
FH=
5. 00
ol +3.80
Y]
c744444447
DL=0. 00
2-N0. 4
GH=3. 23
FH=
5. 00
o +4.55
4 +3.80 3
[f2]
0'57‘
DL=0. 00
GH=3. 19
FH=
5. 00
o +4.55
_ +3.80
(=)
DL=0. 00

Co

-
B B EGEES
BrFa2HoU—¢ m2 | 0.28
BEEFa Y- RB m 0.55
BRL m2 -
HEARE QD m2 1.03
avsy—rREQD m | 0.77
FEEPZPEINO) m2 | 0.60
BEEEO > ) — REIRR m 0.95
HEAREQ m2 -
Ay U—rEEQ m2 -
—
H B HiI| #H=E
BrFa2 o U—F m2 | 0.29
BEFa Y- RB m 0.57
#BRL m2 -
gl O) m | 1.05
aVvsU—rREQD m | 0.77
FEEPZPEINO) m2 | 0.62
BEEEo > o ) — R R m 0.95
HAREQ m2 -
aVviU—rREQ m2 -
o -
H A i #H=E
BEFa o U—+ m2 0. 30
BEFa o U—rERP m 0. 61
#EL m2 -
HARE QD m | 1.19
EPZES 10 m2 | 0.79
BEavo ) —rQ@D m2 | 0.62
BEEED > s ) — REBR m 0.95
HAEREQ m2 -
EPZIEY. 10 m2 -

oM T FE

EERE

KEMHGRBHRAEREER

T
& | 18184E#TR (1/5)
g R $=1:100

0FEDODRHNI S

BER TEh




18 |1B kR (2/5)
(25 %515]

NO. 5+7. 99 (0. 00) , NO. 6+1. 16 (6. 02)

2-N0_6+6 20"
GH=3. 24
FH=
5.00 4.25
%+u5 o
g§ +3.80 S| .
0,1
_____/////////////// ElE w] HmE
L\ EEFarsy—+ m2 | 0.28
‘ EEFao o —FER m 0.56
HEL m2 | 6.04
DL=0. 00 HEARE QD m2 1.80
— avh)—raEEQD m2 | 0.79
BEavs U — QD m2 | 0.57
BEEEO Y ) — REIRR m 0.95
HEAREQ m2 1.28
aVH - EEQD m2 | 0.85
2-NO. 6+6. 20
2-NO_6+1 16"
GH=3. 24
Fh=
5.00 4.25
g +4. 55 T - ks
ol +3.80 <5I U
< } {
017
H B s =
|\ HEFars)—+F m2 0.28
‘ EEFao o —FER m 0.56
#HEL m2 | 6.02
DL=0. 00 #iEARE QD m2 1. 81
— avh)—raEEQD m2 | 0.79
FEEPrPEY0 m2 | 0.58
BEEEO ) ) — RERR m 0.95
HEAREQ m2 | 1.28
aVIU—rREQ m2 | 0.85
GH=3. 25
FH=
5.00
o +4. 55 — — S
e
017 Y |
H B HiI| #H=E
ErFasyU—F m2 | 0.28
BLEFarH ) —FER m 0.55
#HEL m2 | 3.8
DL=0. 00 HEAREQD m2 | 1.78
B avy—rEEQ m2 | 0.78
PO m2 | 0.61
BEEEO ) ) — RERR m 0.95
HAREQ m2 -
EPZEY. 10 m2 -

DL=0. 00

DL=0. 00

DL=0. 00

S=1:100

AS

AS

AS

2-NO. 7+8. 18
—| + 4
GH=3. 25
FH=
5.00 4.25
o 4.5 S . _—
+3.80 s — 5]
/ E B Eh] BE
[ HREL m2 | 2.04
ysARE QD m2 1.46
FEEPZIENO) m2 | 0.56
BEERO ) — REIRR m 0.99
— HEAREQ m2 1.29
aVoU—rREQ m2 | 0.86
2-NO.7+6.18
GH=3. 25
5.00 4.25
o +4.55 —
5;hs_so | — B
O{
/ E A B BE
|\ BEFao o U—F m2 | 0.28
‘ BELFa O U—FER m | 0.55
#HEL m2 | 5.81
gl O) m| 1.7
— avh)—raEEQ m2 | 0.78
FEEPrPEY0 m2 | 0.56
BEERO Y ) — RERR m 0.95
HEAREQ m2 | 1.29
aVvIU—rREQ m2 | 0.86
GH=3. 24
FH=
5.00 4.25
o +4.55 S —
5§¢+3.80 61 I o
057
H A HiI| #H=E
L\ sEFaroU—+ m2 | 0.28
‘ BEFas o) — rER m | 0.56
EREL m2 | 5.88
HEARE QD m | 1.79
— avsy—rREQD m2 | 0.78
FEEPrIENO) m2 | 0.57
BEEEO Y ) — RERR m 0.95
HEAREQ m2 | 1.28
EPZIES. 10 m2 | 0.85

oM T FE

o

=

5 &%

KEMHGRBHRAEREER

T
& | 18184#TR (2/5)
g R $=1:100

20FE DO N I105

S

1ItE™




18 1Btk (3/5)
(25 %515]

2-NO. 8+5. 00
2-N

0.8+4.18 2-N0. 9
GH=3. 25 GH=3. 23
FH= FH=

5.00 4.25

o *4.55 I
(=2

+3.80 s ~1+3.80
[f2)
0'17
B B BiI| #H=E
[ #EL m2 | 2.04

HEARE QD m2 1.46
FEEPrIEN0) m2 | 0.56
DL=0. 00 BEEEO L ) — RERR m 0.99 DL=0. 00
S HEAREQ m2 | 1.29 _ 1
aVIU—rREQ m2 | 0.86

2-NO. 8+2. 18
2-NO. 8+0. 18 2-N0O_8+6.1
GH=3. 25 GH=3. 23
Fi= F
5.00 4.25

7 AT

+4, 55 S —
il — = ~t +3.80
[E2]
I
/ _ wE| BE
[ HEL m2 | 2.04
#EAREQD m2 | 1.46 ‘
BEa o U—r@D m2 | 0.56
DL=0. 00 BEERO Y ) — RERR m 0.99 DL=0. 00
S HEAREQ m2 | 1.29 —
aVvIU—rEEQ m2 | 0.86
2-NO. 8+6. 18
_ 2-N0_8+5_00’
GH=3. 25 GH=3. 23
FH= FH=
5.00 4.25
+4.55 o "
) — +3.80
H B HiI| #H=E
_ HEL m2 | 2.04
HEAREQD m2 1.46
BEavs ) —rQOD m2 | 0.56
DL=0. 00 BEERD > ) — REIR m 0.99 DL=0. 00
— HEARE Q) m2 | 1.29 —
aVI)— M EEQ m2 | 0.86

5 B E35
BrFa2HoU—F m2
EEFa Y- ERB m
#BRL m2
e O) m2
avsy—rREQD m2
FEEPZPEINO) m2
2 A Rl ot m
HEAREQ m2
Ay U—rEEQ m2

H A B
BrFa o y—+ m2
BLEFa Y- RB m
#BRL m2
HsARE QD m2
avyU—rEEQ m2
FEEPZPEINO m2
BEEED > o ) — REBR m
HEAREQ m2
aVvIU—rREQ m2

iifmff—lm’ﬁ -

H A i #H=E
#BRL m2 2.01
HsARE QD m2 1.46
[EEPrPEINO) m2 | 0.56
BERavy ) — R m 0.99
HEAREQ m2 1.29
avsy—rREQ m2 | 0.86

NO. 9+6. 21 (0. 67)

oM T FE

EERE

KEMHGRBHRAEREER

T

78 | 18184#TR (3/5)

e R $=1:100

0FEORNNE

BER TEh




GH=3. 20
FH=
5. 00
o+3.80
o
DL=0. 00
2-N0. 11
GH=3. 21
FH=
5. 00
+4.55
{ +3.80 s
0
DL=0. 00
GH=3. 23
FH=
5. 00
o +4.55
(=2
1 +3.80 s
[T)
0'17
DL=0. 00

N

Co

- —
E H EGEES
EHEEFarsU—F m2 | 0.30
sSEFary ) —FRP m 0. 60
#BRL m2 -
HEARE QD m2 1.23
avsy—rREQD m | 0.78
FEEPZPEINO) m2 0. 61
BEERav Y — R m 0.95
HEARE Q) m2 -
aAvHU—rEEQ m2 -
\D‘\ . As . T
H H HiI| #H=E
EHEEFarHsU—F m2 | 0.30
sLEFars ) —rER m 0.5%
#BRL m2 -
gl ©) m | 1.10
aVoU—rREQD m | 0.78
FEEPZPEINO) m2 | 0.60
BEERo > o ) — RERBR m 0.95
HAREQ m2 -
aVIU—rREQ m2 -

H B HiI| #H=E
ErFaLy)—F m2 | 0.29
BEFaLH)—FEP m 0.57
ERL m2 -
HEARE QD m2 | 1.09
avoy—rBEQD m2 | 0.78
[Pl Y0 m2 | 0.59
BEERO Y ) — RERR m 0.95
HAEREQ m2 -
aVH ) EEQD m2 -

18 |1B kR (4/5)
(25 %515]

S=1:100

DL=0. 00

DL=0. 00

o #3.80 Z?L____JEE/;:;ZJ

DL=0. 00

E T A

B B EGEES
BEFa2 o U—F m2 | 0.29
EEFa Y- EB m 0.57
#BRL m2 -
HEARE QD m2 1.08
avsy—rREQD m | 0.77
FEEPZPEINO) m2 | 0.59
BEEEO s ) — REIRR m 0.95
HEARE Q) m2 -
Ay U—rEEQ m2 -
T \D\ A A T

H B HiI| #H=E
BrFa2oU—¢ m2 [ 0.29
BLEFa o Y- RB m 0.57
BRL m2 -
gl O) m | 1.13
aVsU—rREQD m2 [ 0.78
FEEPZPEINO) m2 | 0.60
BEEEo > s ) — R R m 0.95
HAREQ m2 -
aVviU—rREQ m2 -

\Dw As T

H A i #H=E
BEFa o U—+ m2 0. 30
BEFaro)— R m 0. 60
H#EL m2 -
HARE QD m | 1.19
avsy—rBEQD m2 | 0.78
BEavs ) —rQ@D m2 | 0.60
BEEED > o ) — R R m 0.95
HAEREQ m2 -
aAVH)— EEQ m2 -

oM T FE

EERE

KEMHGRBHRAEREER

T

& | 18104E#TR (4/5)

e R $=1:100

0FEDODRNI2E

BER TEh




GH=3.27
FH=
5.00

+4. 55

18|11k (5/5)
(25 %515]

S=1:100

2-EP (NO. 19+7. 41)

GH=3.29
Fh=

Lo

o'*—

DL=0. 00

Lo — — Co I T As T
ool +3.80 o|_l/r—_r,: H
017 T
B B BiI| #HE
EEFas s )—F m2 | 0.27
sSLEFa s ) —FEP m 0.53
HEL m2 -
DL=0. 00 HEARE QD m2 1.09
avh)—rEEQD m2 | 0.78
BEavs U — QD m2 | 0.60
BEERavy ) — R m 0.95
HEARE Q) m2 -
avhU—rEEQ m2 -
GH=3. 30
FH=
5.00
g +4.55 I ——
ol +3.80 o‘_l}j; -
O{
H B HiI| #H=E
BELrFasy)—F m2 | 0.25
sLEFary)—FRB m 0. 50
HEL m2 -
DL=0. 00 gl ©) m2 | 0.88
avh)—raEEQD m2 | 0.78
BEavs U — QD m2 | 0.6l
BEEEO Y ) — RERR m 0. 96
HAREQ m2 -
aVH - EEQ m2 -
GH=3. 23
FH=
5.00
> _+4.55 N S S
°>[ = SO ’
B{ +3.80 dl_lfr
<
H B HiI| #H=E
ErFasy)—F m2 | 0.29
BLEFaLH)—FEP m 0.57
#REL m2 -
DL=0. 00 HEFARE QD m2 | 1.12
avy—rEEQ m2 | 0.77
PO m2 | 0.56
BEEEO ) — RERR m 0.95
HAREQ m2 -
AV - EEQ m2 -

DL=0. 00

0 |NO.19+6.91" (3.20)

51 |NO. 19+6.91" (0.51)

B B Bf| #E=
ErFary)—+ m2 3.2
AEFarsy— R m 0.
ERL m2
HEARE QD m2 -
avyU—rEEQ m2 -
CEEPZDEIN0) m2 -
o>y ) — R m -
HEAREQ m2 -
aVvIU—rREQ m2 -

']:[‘ As

B B B #H=E
ErFasy)—+ m2 | 0.26 |NO.19+6.91(0.26)
BEFaLH ) —FER m 0.52 |NO. 19+6.91(0.52)
BREL m2 -
P EE0) m2 | 1.04
avis)—rEEQD m2 | 0.76
B> —rQD m2 | 0.60 |NO.19+2.81(0.60), NO. 19+3. 88 (0. 00)
BEEEO >0 ) — RER m 0.96 |NO.19+2.81(0. 96), NO. 19+3. 88 (0. 00)
HAREQ m2 - PN = i
SVHU—FREQD m . nH T FE

EERE

KEMHGRBHRAEREER

T
78 | 18184#TR (5/5)
g R $=1:100

20FEFEDODHNIZE

BER TEh




g
IS
/'000
g
'S

.900

7, /06
S/ %

< % X

OV ) — FREFEE  s=1:300 u:n
[25¥i515]

‘ TEm RS ‘

2 4.72

Il

il
vy ) — MEERR (B BE
L“(472/17 _ g

- 3.24 L i
R 420 . 333 | . 2 3.23
RN 28 | ¥l 3,25 /

b s U — b DY ('FEEJ) s / \ra.u: Vo — A

™|

~ o) o [=1 o © — (=3R4}

— — = 5 — — o~ L

. . . . . . . . NI

© © — © < © < +| +

+ + + + + + + o — o~ ™ <t 0 © ~ © o oo

° — — o~ ] < o o ©| fo © ~ ~ o © = = — — — — — — — — — — -]

f=} (=] o [=] [=] [=} [=] [=} [=] [=] [=] [=] [=] o [=] [=] (=} [=] f=] [=] [=] (=} [=} (=] [=] [=IE=1k=]
g T I T T I I I IE T I I T I T I = T T I I T T I I I TIT| d

o~ o~ o~ o~ ~ ~ ~ o~ o~ o~ ~ o~ o~ o~ ~ ~ o~ ~ ~ o~ o~ ~ ~ o~ o ol

-NO. 19+6.

aAvyY—r#E L=195.87m

S T FE |

i | ol

&5 R E

KEMHGRBHRAEREER

T

g ovou—rREFER

wm R 1/ 300

0FEDODRHNILE

BER TEh




°4.92

24.87

%

R iE F m X

S

:300 u;m

(25 %#515]

/00‘

TEm RS

=

'S
N/,
000

[Hl
3N0. 3 < T
ey ——— g
D O]
4.72 S| 473 )
T g
77777777777777777777777777777777 - . ew =
1T T T T T T T =TT T T T T
Ni4.70 a.66)
Eﬂx‘ﬁi&“‘ﬁ
—[— 4% 7 756
7
[ T— 1 N5 A
1 [3.30 Ii i
sum 3.24 f
439452!@1’; T 13.23 | | = L
ﬂ N
S 2
e b «© ©
of + + o R o~ el <t| 0 © L 0 (=]
1768 — o | < o ©| | ~ ~ S o — —_ - — - — —_ A - —|
=] [=] =] =] =) =] =] =] [=] (=) [=] [=] =) =] [= [=] [=] [=] =] =] =] [=] a
s Z z z z 3 3 o I A Z 3 Z z Z Z Z 3 3 g z ¥
o e (Ll N N o~ o~ o~ o~ o~ o~ N N o~ o~ o~ o~ o~ N o~ o~ N N o~
s
© O
— =]
+ +
©| el
g =
iy L=25. 02m &

%) )05

#H x FE |

EBERE

KEMHGRBHRAEREER

T

&

KREFE X

g R

1/ 300

20FEFEDODHNIE

BER TEh

'S
.900




/@é‘;
A
@%

g

A

Qb

Q@

Y S
? G
~ X

rp g [ B < 1 [X] $=1:300 u:m
[25¥i515]

‘ TEm RS

“ “ P
(2) |
} ! 4.61
5.22
o | i As 0.2 5.22 As h
487 . ) k\ 0| 5.23 As 5.21 5.17 ‘ Wi
N R
e NN\ M X v‘ e
3N0. 3 o - < ° V)
e s N—————— o e ——————————— —— = ————————
= [i (k)
Il
GP|l| Co
o472 «4.73 4,73 ?_SH ©4.72 473 4,73 o471 o4 7
5
I .
777777777777777 me4on______ 4y ® g 4w 4 egg“® gy ew g 4% @19 g
T T T B T Y Y T T T e e e e e e e
‘ 4.64 ‘ 4 «4.70 ‘ ‘ ‘ 4.66 ‘ 469 ‘ 470 4.70 47 4 67 46 4.66 467 4.5
=457 o4.6 4.69 ‘ ‘ | 4.6
Hif|FiE 46 4 | \ \ 45 | 3.33
—— 4% T 55 35y T »4\;\ TA T ETR 26T i 763 "5 ] 283
— —\ — [ T +
— 1 \ 1.5 : — i } i j
4n | mmm 3.24 [3.30 L[ =i [ 331 302/“ 3.2 3.0 0334 .3.28 3,30 ‘ 3.3
430452 | R 7T 9 -3.28 [3.33 o | r N |43.23 319 | 32 3.24 | |
— : : —= =S ! !
e ' \ o
. : 3.80
2.30 0l
. BIEEo> o )—Fk
i o U=k
| o
|
WHHM‘ -] o~ ™ < Lo | & ~ o o =4 pam o o2 b 2 2 = ® 2
(=] [=) [=) =] =] =] =] [=] [=] [=) =) =] =] [=] [=] [=] =] =] =] [=] a
; £ 5 5 z z T T Z % £ g g 3 z £ £ g z g 2 g
| & o~ o~ o~ o~ o~ o Y ® Y P o~ o~ o~ o~ o~ o~ o~ o~ ~ o~ Y o~
© 2=}
¥ ¥
~ O
=] (=]
T T
o~ o
FREEE L=10.00m

#H x FE |

i | ol

ERE

KEMHGRBHRAEREER

T

g RS T E

e R 1./ 300

20FEFEDHNI6S

BER TEh




6. 00

5.00

kb J-LE kY i .
th R B 5 $=1:100 u;m
(25 %1515]
2-NO. 8+6. 18
2-NO. 8+5. 00
204 __ 240 1.00 4.31
2@0.140=). 80 - FQ;LE
a2 Y — MEE Qr=20cn
_ (13 4 DA el M QD) FEREEQ +=30cm_
\: o
By Y—+ f‘i
~ +4 SR
o HWL+4.00 380N &l U
3 Cl .
- 2,90 < 2 HEAREQJ
“z © +1.73 1], s
! ‘ BRIE - R L
< LWL+000 LEIZZU—F B t
¥ < T
< <
o
8 4.55 S
—
g Z
)
11
s
: 78358
S < —NU. 6+0.
7l B 5] ~
2 1.99 6@0.40=2.40 _1.0 4.30
~ S uieie 200.#0P. 80
221515 : A} :;9u—r%§gbm“
2 PRl el MG FERREQ +=30cm
b. 8
5@0. 40=2.00 2. 00 500. 40=2. A BEOVU— D | o " -
2.00 6.00 2.00 sz H.W.L+4.00 \:E , Ju)
10.00 2% o\ﬁ K g, \HEARE(
* = =2 ® 2 g =2 *LI5 0, _
g % J2 3 3y ¢ O\
o o gls o ol o o < LWLx000 L£EI27U—b
2-NO. 8+5. 00
2-NO. 8+4. 18
A—A 2-NO. 7+8. 18
2-NO. 7+6. 18
10.00
199 __ 240 0 4.30
2.00 6.00 2.00 200 F0=D. 80 N
229 Y — M Qr=p0an
540.40=2.00 2.00500. 40=2.00 1. 18] B2 U—rD HRAREQ) +=300m
W Ld 1 +4 55 e Y Y—t -
W.L+4.00 N +4 —
— +3. 8l s TN =TT
= = sz HW.L+4.00 w380 0h S, [ 0
2.0 T—— t#massur 8 KE, \HBRE(
1. 75 +1.73 o +2.30 2
— el |
BRI - R L
S, —
2 LW.120.00 - LW Lsoc0 LEIZU—E BB — b
pap2

" B

By

=

=
aVy ) — MEER(EBBE | m2 0.85
BEEE Vo) — MEE m2 1.00
avy ) — FEEEMR (B BE m2 0.51
EEBaL Y Y— MBE m2 1.31
[£31 m2 7.31
H B BfT BE
LBV Y — m2 1.16
RS — m 5.82
HEREL m2 2.01
wERE @ m2 1.46
EEEa Y Y—+ m2 5.43
FEEPZIEINO) m2 0. 56
HEARE Q) m2 1.29
avsy—rEE Q m2 0.86
EH H 2 B
avy ) — MR (LB BE m2 0.85
BEEE o Vo) — MEE m2 1.00
avY ) — MEER (TR #BE m2 0.50
EEBaL Y Y— MBE m2 1.31
BRAE m2 7.36
B B BfT =
BV —F m2 1.09
BhRb S — m 5.80
HEL m2 2.04
wEARE @ m2 1.46
BEaVIU—F Q) m2 0.87
B U—k D m2 0.56
wERE Q m2 1.29
avyy—rEE m2 | 0.86
H B B BE
aVy ) — MRER(EBBE | m2 0.85
BEEE Vo) — MEE m2 1.00
avy ) — FEEEMR (B BE m2 0.50
EEBaL Y Y — MBE m2 1.31
BRAE m2 7.36
A 8 H[ %E S T FE |
BV —F m2 1.09 . .
BHo— m | 580 EERE
ERL m2 | 204 KEMER SRR TR
#isAmRE O m2 1.46
NEEDZ IS m | 5.35 T &
E2-9) D | m ] 05 | PREEREHAR
HARE @ m2 | 1.29 —
avoy—rEE Q m2 0. 86 e R 1./ 100

20D WNITE

BER TEh




S S S
» %
K
~
A — FFEmEE S=1:300 u;m
=1: ,
(25 i515]
T ATE
\ &
‘ ‘ \&2)0
@) \ | ¢
| |
‘ | — As
4.81 .48 ) L a | 5.23
o N ‘
7 as N H
0.3 o \¥,ﬁ = ‘
e - = - =
D ©
472 473 S| 5
T g
77777777777 [ 4.07 (0 B R 2P S 1 s
T T e 1 T LT T4 LT T T T T LR
4.64 41 4.70 ‘ ‘ 466‘
| 40 | L ‘ |
—[— ~4% 755 59 A ‘I'_. T_.
A\ ES 25 /
— i PR : : 1 /i
B | mmm 3.24 3.0 [ s
430452 | R 7T 9 2328 [3.%3 | . | = X N
0114 N ' B
‘ Bk |[t2.30
HHHH‘ 8
A e o o -
— ISY - —
DHHHHH K & k3 £ = ha N )| < 7 © ~ ool o)
—] o~ ™) < Lo ©| |[© | ~ ~ | =3 — — —| —| — - — — —] —]
[=] [=] [=] =] =] == = =) =} =) =] =] =] =] [=] [=] [=] =] =} = [=] a
T T T < < TFE T T T T T T T 5 T = = 5 T 5 T H Y
(Ll o~ o~ o~ o~ N o N N o~ N o~ o~ o~ o~ o~ N N o~ o~ N N o~

I

BEEY S — b L=31.37m

'S
N/,
000

#H x FE |

EBERE

KEMHGRBHRAEREER

T

B | BEI—hrEER

e R 1./ 300

0FEFE D HNI8E

BER TEh

'S
.900




HE L¥FEmE $=1:300 u:m

TEm RS ‘

4.81 ‘ ‘ I As
5.23
4.87 ﬁ) k\\& \‘ 5
2 A\ H
w7 \
= e
D ©
4.72 «4.73 > .47 ]
~ =
, + ) Z
777777777777 [ 4.07 N 8 () B | S . §
T T T w11 T ol T Tl T T T T L=
4.64 4.7 N4 70 466
Eﬂx‘ﬁﬂi -4.6 \ 4. 69 ‘ ‘ ‘ \ :
—[— 4% 755 759 76T -7 = T_. — &7
= =\ = = ——
‘ﬁ —— i ﬂLls : 1.8
3.30 |="“=|
. 3.24 f
452! FHE "9 -3.28 3.23 o I/ o5 5 | [] | \
m T ° — ‘
EEL 7.30]) 2.8
BIEEo> o)k
| Il 4| - .
— 1 S o =
‘ /I o + + + o —| N )| < 0 © ~| 0| o
4 T3||] 4766 — N < = 2 © © =~ ® © - - - - - - - - - —
©4.92 ‘ L [=] o (=] (=] o o f=] [=] (=] o (=] o O o o f=} (=} (=} (=} o o [=] (=] [= N
) s Z Z 3 3 3 3 T3 T % 3z 3 3 3 % Z g 3 3 3 z iy
‘ Mo 1"P‘ﬁ & o~ o~ o~ o~ o~ o~ Y o~ Y ey o~ o~ o~ o~ o~ o~ o~ o~ o~ Y o~
— of
RIS © —
~— o~
— ©
+ +
=] (=2}
= =
& HREL L=35.05m &
P —
S T £E ‘
= N
=5 R#

KEMHGRBHRAEREER

T

2| ERLFER

e R 1./ 300

%, UWEORI S

BER TEh

@é
A

/'000
s@é
.900

A




500

ta R ER LR T A ME

2:N0.0

e BN EAR TS IBMTE

2:N0.0

itk

82y Y= s

[t=50cm LEaH ) — hlE
o ]
=]
\

\ L8y Y — b

2-N0.0+1.05

\//0¢

2-N0.0+6. 13

2.51

itk

t#aYY )~ ER

L8 H— hEIE
3
+3.50 T

2-N0.0+1.05

2-N0.0+3.56
2-N0.0+6.13

mLFfa o) — N EFEK

=

S=1:300 u;m

(25 %#515]

2-N0. 0+1. 05

L#ary ) —rEE

g L1000

g LWL0.00

2-N0. 0+1

L&y —rEIB

T

05

g HWLL+4.00

g HWL+4.00

L& y—rEIB

S=1:

g HiL+e.00

100 u:m
2-NO. 0+3. 56"

g HIL+4.00 SD g HNL+4.00
‘

L8y — MEE 0 \@0 L8a o — bEE
\
\

zLWLiﬂﬂﬂ zLWL:BBO
$=1:100 u;m
2-NO. 0+3. 56"

g hL+a.00

2-N0. 0+6. 13

BRHR

o)
2
ol

2-N0. 0+6. 13

o,
)
o

Lo U—rEIR 0.%0

/00¢

] FLZR 100

TALET6

75T AR AT
¥LWL:000 ngLiooﬂ gLWLiOOﬂ zLWL:ﬂﬂO
- o
) S
‘ 1 GF 2)06
|
“ “ A 5.22 A o o 4
4.12) I ) N o s B
4.87 . 0 | 5.23 As EiR
2
s
47 & e
( — U
- /(4.11) < =
\\ @ ol = ‘ ﬂ@
R — \ oo ‘ 4.66 ‘ . ‘ 4.67 4.6 467 E ﬁ ﬁr_—§
- mms ¢ | L | | L I L LT T8
K _ —]— & 1 T 459 7 56‘} — BIR 1 1 ‘\‘ 463 7 bl? 45 4 = =
|l = — ! ‘ ! : : Q|5
| a6 | ; - i — ] NE
4qn [3.30 3.2) H H 3.4 3 2.3 .3.28 3,90 3.3 5
Vi e o S o 3.2
o I3, 33 0 0 _ X 0 10 | o \ o o i o 0o e o . E é
o _I_I [=}
\} o R#A T80 3.80 §:[ 730\ 2. 80] 380 ¥ =
w»f avsy—t & 2 BlEEn >y Y—k Sy U—F b
I R4 — «© © © -
ek - N_ ”_ = 0 © S~ (e > = = = = = 2 = = = =
| I~ A= g g g g g g ¢ g g = = g g g g g g g g g &
| T H‘H HH & & & & & & &l & &l & & & & & & & & & & & & &
| e
‘ <473 |)I| 4766
\ ) — ﬁ
e = :
K PRI = — = =
el | © o © © +
T £ £ ¥ + + =
o| o © — ~ © —
[=IE=-1=} = . = = =
i e e BEFaryy—+ L=6576m = < ErFarsy—F L=111.23m =
rEgaYhs y—|rE | #mIH L=5.08m Zf D13 x500mm (SD345) N=131& = DI3x500mm (SD345) N=2227&
£% DI3x500mm (SD345) N=10A&
S$=1:50 u;mm
s \ hvd
a4 {RAHESR
BEFILHY—F BEFaLHY—F FAERRD LS Y— b &% T F£E |
0.50_1.00 L1. 00mx B1. 00m e .
=EERE
+3. 80 RE A B | 1X%Y | HE H#hgHh T 200
£8 DI3x500m (SD345) 28 | uE RANEZE | 616x100 KEMBREBRERSEE
(mm) (&) (kg/m) | (ke/Z&) (kg) (&) (&) I i
500 379 | 0.995 | 0.498 | 188.7 379 379 - = -
£8 D13x500mm (SD345) £ D13x500mm (SD345) & | BtFaryu—rEER
V= Y —_—
g H T e R &
R-1I2NEIZ S 24 E D RHN20E
= [+ 1B =15
S 2R 17T
S S $
(/ *//




g
IS
/'000
g
'S

.900

//06
\/00¢

g % ¢

a9 ) — FEME s=1:300 u:m
[25¥i515)

‘ TEm RS ‘

HH‘ HH Q © o 0 5
<l 7 s BB 3
° — o~ ™) < o %] & ~ = wld b b =y S i N e b ) © = s e 2
=] =] =] =] =] =] =] =] =] ol I o =] =] =] =] =] =] = =} =] =] =] % o
= g
& BEEED > oY) — bk L=187.80m I
. 2-NO. 8+2. 18
REEH 2-NO. 8+0. 18
200, 40=0. 80 1.99 _600.40=2.40 _ _1.00
1.00 269, 40=080
PR ) —+
(X2
Nt S 2 EPZD e ORI &M % GE |
& ] — - s
S - [ 5B RS
+3.80 e 9mm_ L=10.00m c. t. c=0. 50m ~
ﬂ o KEDBRBEBIKERESEE
@$13mm L=1.80m c.t.c=0.25m BEEED 4 1+ R @ ;) T *E
.30 ™ & |BBaryy— FEER
' 9mn_L=2.00m_c. t. c=0. 50m w® R 1/ 300
+1.75 L
$13m L=2.60m c.t.c=0.25m 2 E0ORN2NE
= = E L= E
2R 17T




% /OL
S %

- M% .

A0 )— FEHETEE s=1:300 u:m
[25¥i515)

‘ TEm RS ‘

7 +4.64 ?:I:ZO g i 24.70 R 74Vr575' v ‘ < 4.69) ‘ ;4 70 - 4.70 ‘ /A‘;\‘ ﬁj\ o467 ?:2 ~T% = 0466‘ 467 4:
wilus 4 < 20t \ |0 | | | D | | -
—[— 4% ~X 7 AN — B /
i 7 —
7 #3807 3.80 4 L
(| | | [ (| [1 4 HHH (| [ I [ (| | m| (| (| n [ -
A3 < o o -
1Y — — o~
[l : : : :
—] N | < Lo | & ~| i3 | & o & =4 pam o o2 . L2 2 = ® 2
L > = = = =] =] =] = =) =} =) (=) =) =} =] =] [=] [=] =) =) =] =] =] [=] o
fﬂmmﬁ % % 3 3 3 3 T3 T3 T3 3 % 3 3 % % % 3 3 3 T =iy
E
g
avy)— bEE L=195 86m A.J
#H x FE |
=5 R %

KEMHGRBHRAEREER

T

8| avyu— rBETER

e R 1./ 300

0FEDN2E

BER TEh

$ @Q X S
7y >
A A




Q%

tREITEEX

%

S=1:300 u;m

(25 %#515]

TEm RS

IS

]00¢

&
‘ N
@ \ \‘ &
4.81 | “ T As
. 4.87 P ) N L WA “
7z s N
3NO. 3
& — ————y————————————= =4 N———r—————
Pl e 47 .4.73
[ (4.07 = T8 @11
S V- S - s —
i T T
BB | ‘ \
—[= 56|
\A‘A = -
T T T
J R o 3.30 G 02 3.2 w020 | mk 520 wr . J i \ w50
1305 | ard . M mi/“ﬁ o328 @ﬁf& \‘3 %3 | 7@#:& ° %ﬁ/aii{fﬁiﬁ 5 ‘\133 o), R . i10 | R ‘] 7”‘?1 82 - 33 . | ikt .
‘ e
um HH wm T S AR FNE AR wE AR i R R FNE A o iR
. 3
<
+ o i N ™) <t 0 L (==} [=2]
o — o~ ™ < © © ~| o o - pa — — — —| — — —
S S S S S g g S S S s S S S S S S S o
| X WH‘H HH & A & & & A4 & & & & & A A & & & A 4
(I
} 43| 4
|,
,, sl Y
e " |
(FaasE
< <
[=) I~
© &
3 >
g =]
y BRI FMEHEIOKNE 18E FME 21E Fik 2E = - RA) 4
#H x FE |
=B A%
KEDBRBEBIKERESEE
I 7&
7| HEITER
iwm R 1/ 300
% MWEDORB S
EER  {7Em
S *EEIE.‘ B 1T/
S S X S
S )
(/ *//




FTREIFFEMBE (SER)s=1:5 u:mn
(25 ¥1515])

%18 4 (30kNE!) (E,\ i ﬁ%‘)
ATUVILAR

o
=3
S

N3
NS
(=3

o)
)

@
f\\/f\\

N\

Foh—hRI)L +EHE

@200
() ) 450 96 ~
| 60_ 19 | @ "\
195
230 M24 5
75 4 )/ S S
G ) ”
9
¢
jy( o Y M
P @), @
130
20 V] 90 pd
2
el
25

3 % 25 = 055025

aAvYY— T EFE

[=]
|

220

300

£H T FE |

= 5 R E

KEMBHEBHERESSEE

T %

| HRIEEE (S5EH)

e R 1/5

28 FF O N 24 5

wBER 7@




